B AA=DIN =

MERES 17
BEEES 1 &= A H25.10.18
e =
1B 35.677567
RE 137.793850
R |BeThb,
BEEES 2 A H25.10.18
e =
el 35.677650
RE 137.793583
R |BeThb.
BEEES 3 A H25.10.18
e iz (]
il 35677633
RE 137.793583
R |[BETHD,
BEEES 4 &= R H25.10.18
i kL
il 35.677667
RE 137.793600
iR |[EeTHD,




MERES 17

BEEES 5 &= A H25.10.18
i kL
il 35.677667
RE 137.793600
R |[BETHD,
BEEES 6 &= R H25.10.18
i L INER
B 35.677700
RE 137.793633
R |BeThb.
BEEES 7 A H25.10.18
i L IRER
RS 35.677683
RE 137.793617
R |BETHD,
BEEES A=
i
Rl
RE




